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The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hour), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

i Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday 270 - 6 -
Thursday - 11 7 -
Friday 324 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time



Sub questions

Question Number : 1 Question Id : 87827040286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?
(1) 36 hours

(2) 42 hours
(3) 45 hours
(4) 35 hours

Options :

878270158241. 1
878270158242. 2
878270158243. 3

878270158244. 4

Question Number : 2 Question Id : 87827040287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours
(3) 80 hours
&

4) 60 hours

Options:
878270158245. 1

878270158246. 2
878270158247. 3



878270158248. 4

Question Number : 3 Question Id : 87827040288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km

(2) 720 km
(3) 740 km
(4) 540 km
Options :

878270158249. 1
878270158250. 2
878270158251. 3

878270158252. 4

Question Number : 4 Question Id : 87827040289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

2) 120 hours
3) 108 hours
)

(
(:
(4) 92 hours

Options:

878270158253. 1



878270158254. 2
878270158255. 3

878270158256. 4

Question Number : 5 Question Id : 87827040290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 58 hours

(2) 62 hours
(3) 48 hours
(4) 56 hours
Options :

878270158257. 1
878270158258. 2
878270158259. 3

878270158260. 4

Question Id : 87827040285 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 87827040286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270158241. 1
878270158242. 2
878270158243 3



878270158244. 4

Question Number : 2 Question Id : 87827040287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 409

() 309

(3) 809

(4) 6092
Options :
878270158245. 1
878270158246, 2
878270158247. 3

878270158248. 4

Question Number : 3 Question Id : 87827040288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270158251. 3

878270158252. 4

Question Number : 4 Question Id : 87827040289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270158253. 1
878270158254. 2
878270158255. 3

878270158256. 4

Question Number : 5 Question Id : 87827040290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 589

() 6%
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(4) 569
Options:
878270158257. 1
878270158258. 2
878270158259. 3
878270158260. 4
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Question Number : 6 Question Id : 87827040291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tools can be used for virtual labs and simulations ?

(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :

878270158261. 1
878270158262. 2
878270158263. 3

878270158264. 4



Question Number : 6 Question Id : 87827040291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158261. 1
878270158262. 2
878270158263. 3
878270158264. 4

Question Number : 7 Question Id : 87827040292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the driving force for students’ commitment, engagement and perstistence
in self-directed learning ?

) Fixation

) Motivation

) Metacognition
) Assessment
Options:
878270158265. 1
878270158266. 2
878270158267. 3

878270158268. 4



Question Number : 7 Question Id : 87827040292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270158265. 1
878270158266. 2
878270158267. 3

878270158268. 4

Question Number : 8 Question Id : 87827040293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Passive style is a way of dealing with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement I :  Manipulative style is a way of dealing with conflict in which people try to get
what they want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:



878270158269. 1
878270158270. 2
878270158271. 3

878270158272. 4

Question Number : 8 Question Id : 87827040293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158269. 1
878270158270. 2
878270158271.3

878270158272. 4

Question Number : 9 Question Id : 87827040294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When students, who have learned to type on a typewriter, transfer this skill to typing ona computer
keyboard, it is an example of learning ?
(1) Far transer

2

High-road transfer

(
(3
(

)
3)  Near transfer
)

}

Low-road transfer
Options:
878270158273. 1
878270158274. 2
878270158275. 3
878270158276. 4

Question Number : 9 Question Id : 87827040294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270158273. 1
878270158274. 2
878270158275. 3

878270158276. 4

Question Number : 10 Question Id : 87827040295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3) Focus on foreign language use
(4) admission to students from elite class

Options :

878270158277. 1
878270158278. 2
878270158279. 3

878270158280. 4

Question Number : 10 Question Id : 87827040295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270158277. 1
878270158278. 2
878270158279. 3

878270158280. 4

Question Number : 11 Question Id : 87827040296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iclent'Lfy the software that would be useful for statistical anaJysis of data generated In a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
() (A), (B) and (C) Only

) (B), (C) and (D Only

) (A), (C) and (D) Only

) (A)

4 (A), (B)and (D) Only

2
(3
(
Options:
878270158281. 1
878270158282. 2
878270158283. 3

878270158284. 4

Question Number : 11 Question Id : 87827040296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270158281. 1
878270158282. 2
878270158283. 3

878270158284. 4

Question Number : 12 Question Id : 87827040297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270158285. 1

878270158286. 2

878270158287. 3

878270158288. 4

Question Number : 12 Question Id : 87827040297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270158285. 1

878270158286. 2

878270158287. 3

878270158288. 4

Question Number : 13 Question Id : 87827040298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of a published research article, DOI stands for :

(1

) Data Object Integration
(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface
Options :

878270158289. 1
878270158290. 2
878270158291. 3

878270158292. 4

Question Number : 13 Question Id : 87827040298 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158289. 1
878270158290. 2
878270158291. 3

878270158292. 4

Question Number : 14 Question Id : 87827040299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1
(2
(3
(

Central tendency

Kurtosis

4)  Skewness

; Dispersion
)

)

Options:
878270158293. 1
878270158294. 2
878270158295. 3

878270158296. 4

Question Number : 14 Question Id : 87827040299 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158293. 1
878270158294. 2
878270158295. 3

878270158296. 4

Question Number : 15 Question Id : 87827040300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

o

namely
Options:
878270158297. 1
878270158298. 2
878270158299. 3

878270158300. 4



Question Number : 15 Question Id : 87827040300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158297. 1
878270158298. 2
878270158299. 3

878270158300. 4

Question Number : 16 Question Id : 87827040301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is ::nnceptualised as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270158301. 1
878270158302. 2
878270158303. 3

878270158304. 4

Question Number : 16 Question Id : 87827040301 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158301. 1
878270158302. 2
878270158303. 3

878270158304. 4

Question Number : 17 Question Id : 87827040302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The cyberspace is normally compared to a type of electronic :
(1) Screen
(2) Salon
(3) Complex
)

(4) Agora

Options:

878270158305. 1
878270158306. 2
878270158307. 3

878270158308. 4

Question Number : 17 Question Id : 87827040302 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158305. 1
878270158306. 2
878270158307. 3
878270158308. 4

Question Number : 18 Question Id : 87827040303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3)  (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options :
878270158309. 1
878270158310. 2

878270158311. 3



878270158312. 4

Question Number : 18 Question Id : 87827040303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701583009. 1

878270158310. 2

878270158311. 3

878270158312. 4

Question Number : 19 Question Id : 87827040304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270158313. 1

878270158314. 2

878270158315. 3

878270158316. 4

Question Number : 19 Question Id : 87827040304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270158313. 1

878270158314. 2

878270158315. 3



878270158316. 4

Question Number : 20 Question Id : 87827040305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Communication is a social process in which people use symbols to interpret
meanings in their own environment

Statement 11 : Peoplte and their inferactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :

878270158317. 1

878270158318. 2

878270158319. 3

878270158320. 4

Question Number : 20 Question Id : 87827040305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:
O] T T HI Tiha ¢ o am or W o e H o fuR e o o

1 37 F B
O 11 ; G T 37 vl T e s e =k feen e 2t & e i At 76 @
T |

TG o S §, A9 o T fommed | o U S T I
(1) o1 S o 1 3 9

() 1SR FIR 11 e ¢

() F IR ¢, olfod RO 1T ¢

(4) UL ¢, Tl FUT Il €

Options:

878270158317. 1
878270158318. 2
878270158319. 3

878270158320. 4

Question Number : 21 Question Id : 87827040306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by

5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

(4) 8 hours
Options :
878270158321. 1
878270158322. 2
878270158323. 3

878270158324. 4



Question Number : 21 Question Id : 87827040306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T &R 50 foesie o sfors i @ SR e e 6 g R 5 e e U e 71 630 el
H g A 2 e s )
(1) 7%
) 9%
3) 6%
4) §¥
Options :
878270158321. 1
878270158322. 2
878270158323. 3

878270158324. 4

Question Number : 22 Question Id : 87827040307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270158325. 1
878270158326. 2
878270158327. 3

878270158328. 4



Question Number : 22 Question Id : 87827040307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot Wt o A 0 ol 9 27000 §1 A 12 fonfel @ e oM % 40000 S S
T 1 S0 A 2 6000 2, T FHA o G e
(1) 402
(2) 404
(3) 406
(4) 408
Options :
878270158325. 1
878270158326. 2
878270158327.3

878270158328. 4

Question Number : 23 Question Id : 87827040308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. If the ratio between the first and the second is 2: 3 and between
the second and the third is 7 : 9, then the third number is :

(1) 48

(2) 54
(3) 64
(4)

]

4) 66

Options:

878270158329. 1
878270158330. 2
878270158331. 3
878270158332. 4



Question Number : 23 Question Id : 87827040308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 Teel 301 124 %1 4 Vel 4R gt T o o SR 2:3 € A4 T SR e it e
7:9% 9 dd Hem @
1) 48
(2) 54
(3) 64
(4) 66
Options :
878270158329. 1
878270158330. 2
878270158331. 3

878270158332. 4

Question Number : 24 Question Id : 87827040309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂllmviﬂg number series ?
2. 38 5. B s

(1) 3120
7. S 74
(3) 2045
(4) 630
Options:

878270158333. 1
878270158334. 2
878270158335. 3
878270158336. 4



Question Number : 24 Question Id : 87827040309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea s s@en § P =1 7 foFawn gm 2

(), 2, 28 Fad, By o

(1) 3120
(2) 1029
(3) 2045
(4) 630
Options :

878270158333. 1
878270158334. 2
878270158335. 3
878270158336. 4

Question Number : 25 Question Id : 87827040310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gam after a]lowing a discount of 15% ?
(1) 20%

1
13=%
o 13
(3) 10%
2
15=%
HRES
Options:

878270158337. 1
878270158338. 2

878270158339. 3



878270158340. 4

Question Number : 25 Question Id : 87827040310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forel o 91 TR e 3 forh o fer T 1 75% 1 15% F 92 ¢ F v AR A R
e 2 T 2
(1) 20%
1

) 13=%
o 1
(3) 10%

2
15=%

¢ 23
Options :

878270158337. 1
878270158338. 2
878270158339. 3

878270158340. 4

Question Number : 26 Question Id : 87827040311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that they cannot both be true, nor can they both

be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates,
(C) Some mammals are not vertebrates.
(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
() (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270158341. 1
878270158342. 2
878270158343. 3

878270158344. 4

Question Number : 26 Question Id : 87827040311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o § 9 9 97 39 Te W TG & 6 o O 9 T @ o € AR T S B WA €
(A) T TR Fe €

(C) T8 T FH T ¢

(D) 13 Sf Tt ] T |

7 feu T foered % 9 W SR T i
A (A) 4 (B)

Options :



878270158341. 1
878270158342. 2
878270158343. 3

878270158344. 4

Question Number : 27 Question Id : 87827040312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement - “All rectangles are
polygon” ?

(I) Some rectangles are polygon.

(2
(
(

No reclzmgles are nonapalvgnn.

s |

}

; No non-rectangles are non-polygon.
) All non-polygons are rectangles.
Options :

878270158345. 1

878270158346. 2

878270158347. 3

878270158348. 4

Question Number : 27 Question Id : 87827040312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfefan # 8 #F 7 F97 Tk T F 30 F97 % q0ged ¢ - 9 A T ¢ ?

(1) T 3790 g4 &

() ot S TR-a e T B
(3) I ot o TR-agye I ¢
(4) Tl -G ST ¢ |

Options :



878270158345. 1
878270158346. 2
878270158347. 3

878270158348. 4

Question Number : 28 Question Id : 87827040313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing intension :
(A) Cheese

(B) Dairy product

(C) Soft Cheese

(D) Strong soft cheese

Choose the correct answer from the options given below :

(1) (B), (A), (©), (D)

(2) (B), (D), Q) (A)
(@) (D) (), B), (A)
4) (D) (O (A) (B)

Options :

878270158349. 1
878270158350. 2
878270158351. 3

878270158352. 4

Question Number : 28 Question Id : 87827040313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ffefiaa gl =l Toned % TRl A H Hared Hifg
(A) TR

(B) g™ SIS

(©) ¥g TR

(D) it §g TR

= feu v fasredi § 9 9 39T & =9IH HifeU

(1) (B), (A), (©), (D)

(2) (B), (D), (O), (&)
(3) (D) (©), (B), (A)
4) (D) (©), (A) (B)
Options:

878270158349. 1
878270158350. 2
878270158351, 3

878270158352. 4

Question Number : 29 Question Id : 87827040314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stabﬂit}r s indispensable to economic progress because economic progress can 011l_v be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation
(4) Begging the question
Options :
878270158353. 1
878270158354. 2
878270158355. 3

878270158356. 4



Question Number : 29 Question Id : 87827040314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" e e enfeler e ¥ e arfterd & it snfo wfe St Trovifo o 3 et 2 €1
% 9 Gl ¢ 1" S0 F B T SR T ¢

(1) TR Bem

(2) Ve Heokd (T2 &)
(3) ot qER
(4) ST g
Options :
878270158353. 1
878270158354. 2
878270158355. 3

878270158356. 4

Question Number : 30 Question Id : 87827040315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I :  The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

Options:



878270158357. 1
878270158358. 2
878270158359. 3

878270158360. 4

Question Number : 30 Question Id : 87827040315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwmﬂﬁﬁz

FUA1: 79 yfoara e W e € FifE T ga e e ver 1 R B
HOT ;35 Yfosfta ' 3 wver , TF 7 45 ' H afafid wed o e g
IR FUA F S 8, e fou 0 fored § ¥ e SURgE I H T H ;
(1) S 3R w1 I T &

() WA 1 3R H 1 T e €

(3) U LTI &, ek oM 117 @

(4) Y 1TEM &, Tl e 11 7 ¢

Options :

878270158357. 1

878270158358. 2

878270158359. 3

878270158360. 4

Question Number : 31 Question Id : 87827040316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Google is a web search engine, while google chrome is a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270158361. 1

878270158362. 2

878270158363. 3

878270158364. 4

Question Number : 31 Question Id : 87827040316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FATL: 70 TF o G 35 ¢ STl T M o6 A1 ¢ |

HUT I TEFHIGR U UF 96 9 39 ¢ ek HIsshaie fam U od e § |
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) YT TR &, Wifehd e 11 7Terd ¢
(4) U T &, TR HOR LT &
Options :

878270158361. 1

878270158362. 2

878270158363. 3



878270158364. 4

Question Number : 32 Question Id : 87827040317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fnllnwing memory hieral'ch}; diagl'am:

Cache
Memory

f s 3
/ Solid State Storage \

11

/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent [, II, [Il and IV (in that order) ?

Increase in Cost per bit
Increase in Access Time

(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

(D) Processor Registers

Choose the correct answer from the options given below :
(1) D) (C), (A) (B)

() (4), () (©) D)
() (B) () (D), (A)
@) @) (©), ({B) (4)
Options :
878270158365. 1

878270158366. 2



878270158367. 3
878270158368. 4

Question Number : 32 Question Id : 87827040317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiea #ar | sme R/ fo=r #ifs ;

yfa fae =rma ° afg
S
&
7
il
st wa § gfg

T

Ly

/ v \
frfafiad o | 9 9 560 A-D (35 FH ) 11, 11 SRV i 97 & 7
(A) Fraw 2

T we feeh
(C) =W UaEd HAN
(D) 9rHER Tseed
A9 fou o foepedi H 9 W@ SR F1 T9H FIf9C

(1) (D) (©), (A) (B)
) (A), (B), (C), (D)
) (B), (O (D), (4)
) (D) (©) (B), (A)

(2
(3
(4

Options :



878270158365. 1
878270158366. 2
878270158367. 3

878270158368. 4

Question Number : 33 Question Id : 87827040318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 1I
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user's computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IIT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l(E}’ and private key
Choose the correct answer from the options given below :

(1) (AM, B)-(), (CHIV), (DHI)

(@ (AH), (BHIV), (C)(I), (DA
(3) (AL, B)-V), (©)-(), (D)
(@) (AHII), BHLV), (©-{1), DK)
Options :

878270158369. 1
878270158370. 2
878270158371. 3

878270158372. 4

Question Number : 33 Question Id : 87827040318 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 G-I 1 e it

T I
(am & w) (e

(A) wETa () R a9 W T F e P A% T % fou |

() fefwed WM () IR A WIS S YA % F S AR Tea & we feem
I € S 92§ -9 9t 2R A et 0 ¢

€ F#H (L1 oI, ol 21 BIE i STt 79T 157 0 & A Seffera
G201

(D) R (IV) IR % FE W AT Tel & g, T g Wt
%o o Pt of 2 &1

1 feu U ol W § W& S 1 7 T

(L) (AH, B)-), (CHLV), (DHII)

@ (A-D, BHIV), C)(L), (DHII)

() (A)I), B)-[V), (C-(1) (D))

(4)  (AM), BHIV), (©-{1), D}

Options :

878270158369. 1
878270158370. 2
878270158371. 3

878270158372. 4

Question Number : 34 Question Id : 87827040319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270158373. 1
878270158374. 2
878270158375. 3

878270158376. 4

Question Number : 34 Question Id : 87827040319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270158373. 1
878270158374. 2
878270158375. 3
878270158376. 4

Question Number : 35 Question Id : 87827040320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270158377. 1

878270158378. 2

878270158379. 3

878270158380. 4

Question Number : 35 Question Id : 87827040320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270158377. 1
878270158378. 2

878270158379. 3



878270158380. 4

Question Number : 36 Question Id : 87827040321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270158381. 1

878270158382. 2

878270158383. 3

878270158384. 4

Question Number : 36 Question Id : 87827040321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
R-R fra) o o £

T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270158381. 1

878270158382. 2

878270158383. 3

878270158384. 4

Question Number : 37 Question Id : 87827040322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270158385. 1

878270158386. 2

878270158387. 3

878270158388. 4

Question Number : 37 Question Id : 87827040322 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270158385. 1
878270158386. 2
878270158387.3

878270158388. 4

Question Number : 38 Question Id : 87827040323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

878270158389. 1
878270158390. 2
878270158391. 3

878270158392. 4

Question Number : 38 Question Id : 87827040323 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el ieA W W% THeF ¢

Options :

878270158389. 1
878270158390. 2
878270158391. 3

878270158392. 4

Question Number : 39 Question Id : 87827040324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270158393. 1

878270158394. 2



878270158395. 3

878270158396. 4

Question Number : 39 Question Id : 87827040324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 2 FH ICQ'Q UQ%: L&) AR (Assertion A) % ®9 ¥ fafaa % a [l T HT (Reason R) F

wHE

e (A) 9 ) o 1 R £ A o T g fettom i (3 Te o) @ g (@
T),, T 300 G T ¢

FOTR): 10N o 0 faferr A W TfoR TR JoTE o JEw G ¢

U FA o et H, el feu 0 ool o IR S A A

1) (A) ¥ (R) S W& & 3R (R), (A) F TE €A €

D) (A) 8 (R) ST &1 &, WA (R), (A) H 9K A T

3) (A) T € o (R) TE T €

4 (A)T W S Ol (R) T B

Options :

(
(
(
(

878270158393. 1
878270158394. 2
878270158395. 3

878270158396. 4

Question Number : 40 Question Id : 87827040325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270158397. 1

878270158398. 2

878270158399. 3

878270158400. 4

Question Number : 40 Question Id : 87827040325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A4 @ A UM E
TR Tt S 3 e e 1 e 1 F e aed R 3 T F o
¢l

I TG (fewre) W @ ywe ), e 3 & w0 H A g
TR FH % el H, A4 fe0 0 forred o § He S S A I
(1) ISR BRI T
() TSR HIR 11 T
() R IT & o FIF T ¢
(4) R 1T ¢, A o 1R
Options :

878270158397. 1
878270158398. 2



878270158399. 3
878270158400. 4

Question Number : 41 Question Id : 87827040326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270158401. 1

878270158402. 2

878270158403. 3

878270158404. 4

Question Number : 41 Question Id : 87827040326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

friferfad W | @i 99 fovafarey TR e i, 1986 % STER wif faan @ a7

(1) Ealam, seres fovafmmem, s

(2) 3w el i e fevafeeren, feeeh

(3) e T5d W favaifareer, W

(4) TIEd Te TR HEE oK foafererd, TEeH

Options :
878270158401. 1

878270158402. 2



878270158403. 3

878270158404. 4

Question Number : 42 Question Id : 87827040327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270158405. 1
878270158406. 2
878270158407. 3

878270158408. 4

Question Number : 42 Question Id : 87827040327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



el e feferfn # § 36 9 favfermerl § 9o & SR % Hed 9 o 3% a6

g1 ARH-T5H gl 2
(A) 49 &
B) T

(C) wfoen

(D) fersrfyrer

e feu T foeredt o © W S 1 T e
(1) % (A) 0 (B
Q) % @B) % ()
() 9 (C) 4R (D)
(4) o (4) 4 (D)
Options :

878270158405. 1
878270158406. 2
878270158407. 3

878270158408. 4

Question Number : 43 Question Id : 87827040328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
8782701584009. 1
878270158410. 2
878270158411. 3

878270158412. 4

Question Number : 43 Question Id : 87827040328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
R o fAfaiga fayafoeredl i 3T T & HIesraTaR W :
(A) R faveEfeEmer™
(B) fecedt favafaamc
(C) AR fergafer=me
(D) 3 fevafeamTy
(E) et favafaare
e fou 7 foskedi § ¥ W ST A1 FF9 FHINT

(1) (B), (©) (A), (E), (D)
2 (B (B) (C) (D), (A)
(3)  (©), (D) (A), (E), (B)
@) (A) (B, B), D) ©



Options :

878270158409. 1
878270158410. 2
878270158411. 3
878270158412. 4

Question Number : 44 Question Id : 87827040329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270158413. 1
878270158414. 2
878270158415. 3
878270158416. 4

Question Number : 44 Question Id : 87827040329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
-1 T-11

( T afafa) (WIHH &)
(A) HER &M () 3 G SR T R Gl 3 S o
(B) @2 Hfufd (1) vRa ¥ favafaeme faen
(C) THFOH HEM (II1) I o v 9¥ =2mge e
(D) =TTl Wiwfd (IV) el favafaered &1 wraeEt
At foau U fospedi H § W& I FH TAH HIWC ;

(1) (A)-(1D), (B)-(D), (©)-(), (D)-(IV)
(2)  (A)-(II), (B)-(IV), (C)-(II), (D)-(D)
B)  (A)-(0), (B)-(I), (O-(1V), (D)AII)
(4)  (A)-(IV), (B)(IL), (C)-(1T), (D)-(I)
Options :

878270158413. 1

878270158414. 2

878270158415. 3

878270158416. 4

Question Number : 45 Question Id : 87827040330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270158417. 1

878270158418. 2

878270158419. 3

878270158420. 4

Question Number : 45 Question Id : 87827040330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) R 1 3 e 1 SF e
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Options :

878270158417. 1
878270158418. 2
878270158419. 3
878270158420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701691
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827040331 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827040332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270158421. 1
878270158422. 2
878270158423. 3

878270158424. 4

Question Number : 47 Question Id : 87827040333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270158425. 1

878270158426. 2

878270158427. 3

878270158428. 4

Question Number : 48 Question Id : 87827040334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270158429. 1
878270158430. 2
878270158431. 3

878270158432. 4

Question Number : 49 Question Id : 87827040335 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270158433. 1
878270158434. 2
878270158435. 3

878270158436. 4

:No

Question Number : 50 Question Id : 87827040336 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270158437. 1

878270158438. 2

878270158439. 3

878270158440. 4

Question Id : 87827040331 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827040332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e1e1 o 91 H 23T yded Uk W91 &9 71 § it
(1) <R %l G&A1 d9ga ATHF ¢ |

(2) <R AN Sl AR BT ® |
(3) WHE 2T R AN A €
(4) T 1 Y IR e B
Options :

878270158421. 1
878270158422. 2
878270158423. 3

878270158424. 4

Question Number : 47 Question Id : 87827040333 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SSia HeHl ST S G 1 FHIHH e g 9T foRa S wehd @ 7
(1) F=sita fod 7 Qe wed | gfiey e

(2) R YA W GfTEH TR

(3) anforfres Wi =1 fafvafia

(4) T TR H T

Options:

878270158425. 1

878270158426. 2

878270158427. 3

878270158428. 4

Question Number : 48 Question Id : 87827040334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yypadi, Tt anfe & forg wefar & 1 @ e S €

(1) FR=E
(2) =4
(3) <EM
(4) BrEAl
Options:

878270158429. 1
878270158430. 2
878270158431. 3

878270158432. 4

Question Number : 49 Question Id : 87827040335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2RI 1 Frefafas sl § o § v am e
(A) WRFrfarE 9o
(B) HIEHTF HeH

(C) =Y e
(D) Hr=<d9F g
() Tafwrda go

H3 few o faereal § § WE S 1 =9 T
(1) %9 (A), (B) IR (D)

(2) %9 (B), (C) ¥R (D)

(3) FaA (C), (D) ¥R (E)

(4) 9 (A), (D) 3R (E)

Options :

878270158433. 1

878270158434, 2

878270158435, 3

878270158436. 4

Question Number : 50 Question Id : 87827040336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270158437. 1
878270158438. 2
878270158439. 3

878270158440. 4
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Section Id : 878270933
Section Number : 2
Section type: Online
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Number of Questions : 92
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Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
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Question Number : 51 Question Id : 87827040337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Lias- Zaa3 Was destroyed by

Options :

878270158441. 1
878270158442. 2
878270158443. 3

878270158444. 4

Question Number : 51 Question Id : 87827040337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Lies S Was destroyed by

_;.L‘i...-'l < |
el 31 -2
oL Ll -3

Syl s ple 4
Options :
878270158441. 1

878270158442. 2



878270158443. 3

878270158444. 4

Question Number : 52 Question Id : 87827040338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-#'4e was capital of
alill. -1
obgse -2
Hlisa -3
Slilul. -4
Options :
878270158445. 1
878270158446. 2

878270158447. 3
878270158448. 4

Question Number : 52 Question Id : 87827040338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

-#'4e was capital of
obill. -1
ok e -2
olisa -3

Slilul -4



Options :

878270158445. 1
878270158446. 2
878270158447. 3
878270158448. 4

Question Number : 53 Question Id : 87827040339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The Gatha represents the teaching of
\.‘ﬁl:-"l —1
";"":':'J..; —2

ALl -3

Al s 4
Options:
878270158449. 1
878270158450. 2
878270158451. 3
878270158452. 4

Question Number : 53 Question Id : 87827040339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Gatha represents the teaching of

\.‘ﬁl:-"l —1
";"":':'J..; —2
At -3

Al s 4
Options:
878270158449. 1
878270158450. 2
878270158451. 3
878270158452. 4

Question Number : 54 Question Id : 87827040340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arabs defeated the last Iranian king of Sassanid dynasty

gl o -1

Pow 505 -2

el 51 -3

sla bl -4

Options :

878270158453. 1
878270158454, 2
878270158455. 3

878270158456. 4

Question Number : 54 Question Id : 87827040340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arabs defeated the last Iranian king of Sassanid dynasty

LS 41 -1

Pa 505 -2

! $1 -3

old sblis -4

Options :

878270158453. 1
878270158454. 2
878270158455. 3
878270158456. 4

Question Number : 55 Question Id : 87827040341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

| == Was translated into Pahlavi language by
..5..-"“5' J..r:F!IJ ]

w9352

Options :

878270158457. 1
878270158458. 2
878270158459. 3
878270158460. 4

Question Number : 55 Question Id : 87827040341 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

| =z Was translated into Pahlavi language by
_3_’....:'- J..::?'IJ = |

w52

Options :

878270158457. 1
878270158458. 2
878270158459. 3

878270158460. 4

Question Number : 56 Question Id : 87827040342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

42 5 4" was translated into Persian by
L;"Jj_.-"""‘" ;_,f";’.i'f u,.AL:ﬂ.u —1
e sb ST alls -2
e dedle ol Al Sl -3
ek e -4
Options :
878270158461. 1

878270158462. 2
878270158463. 3



878270158464. 4

Question Number : 56 Question Id : 87827040342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a3 5 4lUS"was translated into Persian by
SAS aw Syo aliai-]

s Sl -2

e dardlds o i gl Jlnall -3

ek e sl -4
Options :
878270158461. 1
878270158462. 2
878270158463. 3

878270158464. 4

Question Number : 57 Question Id : 87827040343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The script of Pahlavi language was

& g ;_,.1}—1

Options :

878270158465. 1



878270158466. 2
878270158467. 3

878270158468. 4

Question Number : 57 Question Id : 87827040343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The script of Pahlavi language was
o pa-1
e fas- -2
2wl las -3
ol - -4
Options :
878270158465. 1
878270158466. 2
878270158467. 3

878270158468. 4

Question Number : 58 Question Id : 87827040344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ed o o sim Was king of
sl e -1
_g_;'..&..a ;JJJ —2

slled -3

IhIiTIL....-IL...-I ;JJJ —"I-II-

Options :



8782701584609. 1
878270158470. 2
878270158471. 3

878270158472. 4

Question Number : 58 Question Id : 87827040344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

& e o sie Was king of

sl a1
_g_;'..&...o -;__;__.;J —2
Sluleiys-3

Shalaij -4
Options :
878270158469. 1
878270158470. 2
878270158471. 3

878270158472. 4

Question Number : 59 Question Id : 87827040345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s> belongs to the dynasty of

oalima -1
sl i

Sl -3

sl.-4
Options:
878270158473. 1
878270158474. 2
878270158475. 3

878270158476. 4

Question Number : 59 Question Id : 87827040345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
s> belongs to the dynasty of

ol =1
Sl i

Sl -3

sl.-4
Options :
878270158473. 1
878270158474. 2
878270158475. 3
878270158476. 4

Question Number : 60 Question Id : 87827040346 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
555 S 54 S was published first time in the year

+1923 -1
+1925 -2
»1921-3

»1924 -4
Options:
878270158477. 1
878270158478. 2
878270158479. 3

878270158480. 4

Question Number : 60 Question Id : 87827040346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
35 S 24 S was published first time in the year

+1923 -1
+1925 -2
-1921 -3

»1924 4
Options :
878270158477. 1
878270158478. 2
878270158479. 3
878270158480. 4



Question Number : 61 Question Id : 87827040347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o3\ flaz 31"l S& 8" Was published first time in the magazine of

Jes-1
oall J -2
S e 3
ﬁjl.s.‘ —4
Options :
878270158481. 1
878270158482. 2

878270158483. 3

878270158484. 4

Question Number : 61 Question Id : 87827040347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o2\ flaz 31"l 82 ;" was published first time in the magazine of

Hesr-1
Gl = -2
el 5 3

ﬁjl.sl.‘ —4
Options :
878270158481. 1

878270158482. 2



878270158483. 3
878270158484. 4

Question Number : 62 Question Id : 87827040348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Short story .5 was written by
Colds gals -1
n:a'l_';}Lq..-.l- —2
doesed T ok =3
.ﬁ:_ﬁ’- j.‘-l...d —4
Options :
878270158485. 1
878270158486. 2

878270158487. 3

878270158488. 4

Question Number : 62 Question Id : 87827040348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Short story -\ was written by
Calds Bsls -1

23 Jlam- -2

Lol JT M- -3

250 g2 ol 4



Options :

878270158485. 1
878270158486. 2
878270158487. 3
878270158488. 4

Question Number : 63 Question Id : 87827040349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sl » 5 is famous for

aalziola -1

Options :

878270158489. 1
878270158490. 2
878270158491. 3
878270158492. 4

Question Number : 63 Question Id : 87827040349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sl » 5 is famous for

aalziola -1

Options :

878270158489. 1
878270158490. 2
878270158491. 3
878270158492. 4

Question Number : 64 Question Id : 87827040350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

First Persian newspaper was
4l ubg -1

AV gt ~2

SVl 40 -3

SV gl -4

Options :

878270158493. 1
878270158494. 2
878270158495. 3

878270158496. 4

Question Number : 64 Question Id : 87827040350 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

First Persian newspaper was
4l ubg -1

AV gt ~2

SVl 40 -3

SV gl -4

Options:

878270158493. 1
878270158494. 2
878270158495. 3

878270158496. 4

Question Number : 65 Question Id : 87827040351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Pen name (_alsv) of Ashrafuddin Gilani is

JL...:.K.__..,;—l

Je-2

Options :

878270158497. 1
878270158498. 2
878270158499. 3
878270158500. 4



Question Number : 65 Question Id : 87827040351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Pen name (_<lsv) of Ashrafuddin Gilani is

Jlad i -1
-2
g -3
._J.,_...|.1 - —4
Options :
878270158497. 1
878270158498. 2

878270158499. 3

878270158500. 4

Question Number : 66 Question Id : 87827040352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The writer of Novel ;o5 is

N e -1
&bl S50 5 pamma -2
calda Bales -3
S S a4
Options :

878270158501. 1

878270158502. 2



878270158503. 3
878270158504. 4

Question Number : 66 Question Id : 87827040352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The writer of Novel 5" is

‘ﬁﬁ{.fm..a —1
JJ].:T CJ 55 3 pasa oy
celds 3als -3

S| L N .
Options :
878270158501. 1
878270158502. 2
878270158503. 3

878270158504. 4

Question Number : 67 Question Id : 87827040353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

First female story writer of modern Persian is
Sle@ o -1

S duily -2

39l Cyatines =3

ook o) -4

Options :



878270158505. 1
878270158506. 2
878270158507. 3

878270158508. 4

Question Number : 67 Question Id : 87827040353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

First female story writer of modern Persian is

@ oo -1

S 4ol -2

385313 - patius —3

ool omi-4

Options :

878270158505. 1
878270158506. 2
878270158507. 3

878270158508. 4

Question Number : 68 Question Id : 87827040354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Poetic name of il oKt pa s

sr2-1

Options :

878270158509. 1
878270158510. 2
878270158511. 3
878270158512. 4

Question Number : 68 Question Id : 87827040354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Poetic name of il oKt ya s
sr-1

:..1'|....| -2
gy -3

flet
Options :
878270158509. 1
878270158510. 2
878270158511. 3
878270158512. 4

Question Number : 69 Question Id : 87827040355 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The book Qanoon(y .5 deals with
o1

I P

b -3

e
Options :
878270158513. 1
878270158514. 2
878270158515. 3

878270158516. 4

Question Number : 69 Question Id : 87827040355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The book Qanoon( ;i) deals with

il e 4
Options :
878270158513. 1
878270158514. 2

878270158515. 3



878270158516. 4

Question Number : 70 Question Id : 87827040356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Official religion of Sassanid rulers was
Sy o -1
Pl oy -2
(T S =3
oot gl s -4
Options :
878270158517. 1
878270158518. 2

878270158519. 3

878270158520. 4

Question Number : 70 Question Id : 87827040356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Official religion of Sassanid rulers was
a3y o -1
Pl o -2
(Tt 93 =3
ol gl w3 -4
Options :
878270158517. 1

878270158518. 2

878270158519. 3



878270158520. 4

Question Number : 71 Question Id : 87827040357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The writer of s ail 21215

elaks e =2
Sl il -3

Sl Sl 4
Options :
878270158521. 1
878270158522. 2
878270158523. 3

878270158524. 4

Question Number : 71 Question Id : 87827040357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The writer of s «il =25
e L W

sl o =2

Sl il -3

;_-;j:‘ll""’.,":" ,_,Iqu- —4

Options :



878270158521. 1
878270158522. 2
878270158523. 3

878270158524. 4

Question Number : 72 Question Id : 87827040358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o1l was established during the period of

Sleliels ol gl -1
J'I=-'I5 ald dasea —2
JII:_-E ol - ..J.E‘if..:?'..'l -3

el el ool
Options :

878270158525. 1

878270158526. 2

878270158527. 3

878270158528. 4

Question Number : 72 Question Id : 87827040358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢l 1> was established during the period of
SlBels il -1

g8 ol deoea -2

Jlerliols sl sl -3

O -
Options :

878270158525. 1

878270158526. 2

878270158527. 3

878270158528. 4

Question Number : 73 Question Id : 87827040359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The first Malik-ush-shura of Akbar was:

221
kT I -2
SUb O e Jlie -3
it ilmd
Options:
878270158529. 1
878270158530. 2

878270158531. 3

878270158532. 4

Question Number : 73 Question Id : 87827040359 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The first Malik-ush-shura of Akbar was:

s2i-1
bl AU -2
QUL Ol e Jle -3

S 7o 4
Options :
878270158529. 1
878270158530. 2
878270158531. 3
878270158532. 4

Question Number : 74 Question Id : 87827040360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Zahuri Torshizi was associated with

ﬁlL.t l.T.hj —1
s .;:"_::J —2
U els Jsle ol -3

Lt Jole frlanl -4
Options :
878270158533. 1
878270158534. 2
878270158535. 3

878270158536. 4



Question Number : 74 Question Id : 87827040360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Zahuri Torshizi was associated with

oLt _hi-1
st .::"_ﬁ: —2
b els Jsle el 413

oli Jole felanl -4
Options :
878270158533. 1
878270158534. 2
878270158535. 3

878270158536. 4

Question Number : 75 Question Id : 87827040361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
cededl 0l 3 is composed in the form of

cs-l

Options:
878270158537. 1

878270158538. 2



878270158539. 3
878270158540. 4

Question Number : 75 Question Id : 87827040361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
el Ol 3 is composed in the form of

$aa-1

P T

L=

Options :

878270158537. 1
878270158538. 2
878270158539. 3

878270158540. 4

Question Number : 76 Question Id : 87827040362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
c=5 5k ¢S was promoted by

Sl -1
b gl -2
_;:Tl.i -3

Sl el 4



Options :

878270158541. 1
878270158542. 2
878270158543. 3

878270158544. 4

Question Number : 76 Question Id : 87827040362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
C=5 5k ¢S was promoted by

sl -1

bbb -2

_;:Tl.i -3

Suf -4
Options :
878270158541. 1
878270158542. 2
878270158543. 3

878270158544. 4

Question Number : 77 Question Id : 87827040363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The author of 2= L= is

Jis -1

L

5==_2

Ol -3

P-4
Options:
878270158545. 1
878270158546. 2
878270158547. 3

878270158548. 4

Question Number : 77 Question Id : 87827040363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The author of 2= L= is
Jus-1

5:-_2

-

Options :

878270158545. 1
878270158546. 2
878270158547. 3

878270158548. 4

Question Number : 78 Question Id : 87827040364 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=37 <l Jlis was a prominent figure in the field of

_g_,#'...i: .

ands -2
i Ola =3

235 3 e 4
Options:
878270158549. 1
878270158550. 2
878270158551. 3

878270158552. 4

Question Number : 78 Question Id : 87827040364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=37 <l Jlis was a prominent figure in the field of

_g_,#'...i: .

aets -2

e Dl =3
i_i':hhj:?'; 3 e _4
Options :
878270158549. 1
878270158550. 2

878270158551. 3



878270158552. 4

Question Number : 79 Question Id : 87827040365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who is famous for child literature

el dale -1

s ol e -2

o3l Ylos -3

Sko o Jozr -4

Options :

878270158553. 1
878270158554. 2
878270158555. 3

878270158556. 4

Question Number : 79 Question Id : 87827040365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who is famous for child literature
el Balo -1
uss 3 A —2
eal Ylos -3
Folo g Jlor -4
Options :
878270158553. 1
878270158554. 2

878270158555. 3



878270158556. 4

Question Number : 80 Question Id : 87827040366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who composed Mathnavi “Nal va Daman” in Persian
il ol -1
Saly sz -2
b -3
S2g3 b (5al -4
Options :
878270158557. 1
878270158558. 2

878270158559. 3

878270158560. 4

Question Number : 80 Question Id : 87827040366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who composed Mathnavi “Nal va Daman” in Persian
il ol -1
Salw ssl@las -2
b -3
Sog b (& i -4
Options :
878270158557. 1

878270158558. 2

878270158559. 3



878270158560. 4

Question Number : 81 Question Id : 87827040367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Chief Justice of Jahangir's reign was
S g il yoi o6 -1
Alas 2B -2
Al | 20 -3
Al ed o -4
Options:
878270158561. 1
878270158562. 2
878270158563. 3
878270158564. 4

Question Number : 81 Question Id : 87827040367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Chief Justice of Jahangir's reign was
S Fbgd zg 5B -1
dlae o6 -2
Al > 2B -3
Al gwd o6 -4
Options :
878270158561. 1
878270158562. 2

878270158563. 3



878270158564. 4

Question Number : 82 Question Id : 87827040368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

&2l I Wwas composed in the form of

-:.L:_..-..ﬁﬂd —1

Options :

878270158565. 1
878270158566. 2
878270158567. 3

878270158568. 4

Question Number : 82 Question Id : 87827040368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

&2, I Wwas composed in the form of

a.k.:..aj —1

Options :



878270158565. 1
878270158566. 2
878270158567. 3

878270158568. 4

Question Number : 83 Question Id : 87827040369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In Qasida writing “Gorez” joins

T 9 e -1

el e 9 e —2

sled g Ldlo -3

tled 8 d -4

Options :

8782701585609. 1
878270158570. 2
878270158571. 3

878270158572. 4

Question Number : 83 Question Id : 87827040369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In Qasida writing “Gorez” joins
T 9 e -1

Al L § e -2

#led § ol > -3

fled 8 e -4

Options :



8782701585609. 1
878270158570. 2
878270158571. 3

878270158572. 4

Question Number : 84 Question Id : 87827040370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The most famous commentary writer on S&Jl - 42t is known as

Options :

878270158573. 1
878270158574. 2
878270158575. 3

878270158576. 4

Question Number : 84 Question Id : 87827040370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The most famous commentary writer on Sl = .28 is known as

i Jad ol . |

A e el -2
Ih‘..-.7.-.61: il i oL —3

Al Syl -4
Options :
878270158573. 1
878270158574. 2
878270158575. 3

878270158576. 4

Question Number : 85 Question Id : 87827040371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
First Persian novel on social theme is
Ossggw -1

O ™ pla -2

Options :

878270158577. 1
878270158578. 2
878270158579. 3
878270158580. 4

Question Number : 85 Question Id : 87827040371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
First Persian novel on social theme is
g9 -1
O g™ 12 -2

Options :

878270158577. 1
878270158578. 2
878270158579. 3

878270158580. 4

Question Number : 86 Question Id : 87827040372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
L3181 Sl 513k 38 338 gla sl
L1 b5 s 33 2w B Coid
Above couplet was composed by:
5 gl -1
bl Gl e Sl -2
Sose -3
Pr-h
Options:
878270158581. 1
878270158582. 2
878270158583. 3

878270158584. 4

Question Number : 86 Question Id : 87827040372 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
LNl Gl 5150 38 333 gla &l
SN b ) 90 S B Zuod
Above couplet was composed by:
& s -1
Sl G e Jlis -2
Soseb -3
Pr-4
Options :
878270158581. 1
878270158582. 2
878270158583. 3

878270158584. 4

Question Number : 87 Question Id : 87827040373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
asl Oy lea Was written by

Options :
878270158585. 1
878270158586. 2

878270158587. 3



878270158588. 4

Question Number : 87 Question Id : 87827040373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
asl O Loz Was written by

Options :

878270158585. 1
878270158586. 2
878270158587. 3

878270158588. 4

Question Number : 88 Question Id : 87827040374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Moder Persian Script is written
o b Sl 31-1
il 4 -2
ok 4V 53
You b 31-4
Options :
878270158589. 1
878270158590. 2



878270158591. 3
878270158592. 4

Question Number : 88 Question Id : 87827040374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Moder Persian Script is written
o b ey 31-1
Sl y b 312
b 4 Vb 313
Yoo il 51-4
Options :
878270158589. 1
878270158590. 2
878270158591. 3

878270158592. 4

Question Number : 89 Question Id : 87827040375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
During the reign of Shah Abbas the great Safavid (1587-1629 CE) the capital of Iran was

o -1
Hlgis! -2
dgia~3

Nt
Options :

878270158593. 1



878270158594. 2
878270158595. 3

878270158596. 4

Question Number : 89 Question Id : 87827040375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
During the reign of Shah Abbas the great Safavid (1587-1629 CE) the capital of Iran was

oe-1
il -2
dgis-3

A
Options :
878270158593. 1
878270158594. 2
878270158595. 3

878270158596. 4

Question Number : 90 Question Id : 87827040376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e a2 COmprises of
e 3l g g ol -1
u.;'l..':n.é 3l ga ;;_,.n = =¥,
ol 3l e & Nt

£1Jéaiftjjh,ﬁ—d

Options :

878270158597. 1
878270158598. 2
878270158599. 3

878270158600. 4

Question Number : 90 Question Id : 87827040376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
o aia cOmprises of

28 3l g5 e -1

u;-_ll..‘:l.;- 3l ga ;;_,.. ﬁ—Z
‘_g-.l..].ﬁ J|_,,. f;" Caan =3
u_:'l..ﬁ.f:.'a’l__,.a t_,.n J':.-L—q

Options :

878270158597. 1
878270158598. 2
878270158599. 3

878270158600. 4

Question Number : 91 Question Id : 87827040377 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Wb plo bl
Sl wed Jlil S e 30 (A
38 g S8 ‘;'I.'....JJ amgl 43 (B
db oy bl 53 (C
b Wi Olves 33 (D
Si8 Ulax 4 i lpeh 03 (E
Choose the correct answer from the options given below:
1) A,Conly
2) B,D only
3) B,E only
4) A,D only
Options :
878270158601. 1
878270158602. 2
878270158603. 3

878270158604. 4

Question Number : 91 Question Id : 87827040377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wk e bl bl
Sl wid Jlil S e 3 (A
38 g 283 Jliw o Amgl 52 (B
b Sy sbip s 8 (C
b Mei Oldes 33 (D
S9a8” Olgr 4 e 3l e 50 (E
Choose the correct answer from the options given below:
1) A,Conly
2) B,D only
3) B,E only
4) A,D only
Options :
878270158601. 1
878270158602. 2
878270158603. 3

878270158604. 4

Question Number : 92 Question Id : 87827040378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



93,1 ol
Cegd 13 SRUT 21 (A
o9 Jedsr ey (B
Sl 1y 6 el Bl 85735 (C
Sy Flns ol jYlage (D
S WleF o uain (E
Choose the correct answer from the options given below:
1) A,B only
2) C,E only
3) AE only
4) B,D only
Options :
878270158605. 1
878270158606. 2
878270158607. 3
878270158608. 4

Question Number : 92 Question Id : 87827040378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



93,1 ol
Cegd 13 SRUT 21 (A
o9 Jedsr ey (B
Sl 1y 6 el Bl 85735 (C
Sy Flns ol jYlage (D
S WleF o uain (E
Choose the correct answer from the options given below:
1) A,B only
2) C,E only
3) AE only
4) B,D only
Options :
878270158605. 1
878270158606. 2
878270158607. 3
878270158608. 4

Question Number : 93 Question Id : 87827040379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



tool 5 2137 e a3

se lh daib (A

ol 4 1 "Ly 12" 8,55 (B

el D93 "ol 2l " Olaam 85706 (C

355 Dogh 2T Kijal 52 (D

Sy s 518 aia (E

Choose the correct answer from the options given below:
1) A,D only
2) B,D only
3) CE only

4) D,E only

Options :

878270158609. 1
878270158610. 2
878270158611. 3

878270158612. 4

Question Number : 93 Question Id : 87827040379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



tool 5 2137 e a3

se lh daib (A

ol 4 1 "Ly 12" 8,55 (B

el D93 "ol 2l " Olaam 85706 (C

355 Dogh 2T Kijal 52 (D

Sy s 518 aia (E

Choose the correct answer from the options given below:
1) A,D only
2) B,D only
3) CE only

4) D,E only

Options :

878270158609. 1
878270158610. 2
878270158611. 3

878270158612. 4

Question Number : 94 Question Id : 87827040380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



£yl slano

ot it 239 M gl ST 1 kit 0 (A

Sl g2l Slass (B

ol 400 9 292 Eaoge S8 (C

il ! I et 9] DU 91 Bk i (D

Sl (S g il (51518 (E

Choose the correct answer from the options given below:
1) B,E only
2) C,D only
3) B,D only

4) A,Conly

Options :

878270158613. 1
878270158614. 2
878270158615. 3
878270158616. 4

Question Number : 94 Question Id : 87827040380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



£yl slano

ot it 239 M gl ST 1 kit 0 (A

Sl g2l Slass (B

ol 400 9 292 Eaoge S8 (C

il ! I et 9] DU 91 Bk i (D

Sl (S g il (51518 (E

Choose the correct answer from the options given below:
1) B,E only
2) C,D only
3) B,D only

4) A,Conly

Options :

878270158613. 1
878270158614. 2
878270158615. 3
878270158616. 4

Question Number : 95 Question Id : 87827040381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ole 2 Pl

Sl 30 () i 5 (A

ol 3 675 (B

el 56 2l (C

ool (53T T30l 5l w1 e 1l ki g (D

Sl D ghe IO 50 ki 9 (E

Choose the correct answer from the options given below:
1) B,D only
2) A,E only
3) C,D only

4) B,E anly

Options :

878270158617. 1
878270158618. 2
878270158619. 3

878270158620. 4

Question Number : 95 Question Id : 87827040381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ole 2 Pl

Sl 30 () i 5 (A

ol 3 675 (B

el 56 2l (C

ool (53T T30l 5l w1 e 1l ki g (D

Sl D ghe IO 50 ki 9 (E

Choose the correct answer from the options given below:
1) B,D only
2) A,E only
3) C,D only

4) B,E anly

Options :

878270158617. 1
878270158618. 2
878270158619. 3

878270158620. 4

Question Number : 96 Question Id : 87827040382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



kb

sp ok 3] 5 (A
o8 Fpdo 23 B

sp gublutgys 2 (C

spidypyp g ot 0
spalisiyy g e E

Choose the correct answer from the options given below:
1) A,D only
2) C,D only
3) D,E only
4) B,A only
Options :
878270158621. 1
878270158622. 2

878270158623. 3

878270158624. 4

Question Number : 96 Question Id : 87827040382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



kb

sp ok 3] 5 (A
o8 Fpdo 23 B

sp gublutgys 2 (C

spidypyp g ot 0
spalisiyy g e E

Choose the correct answer from the options given below:
1) A,D only
2) C,D only
3) D,E only
4) B,A only
Options :
878270158621. 1
878270158622. 2

878270158623. 3

878270158624. 4

Question Number : 97 Question Id : 87827040383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



93 Elx
ol (S B 2 (A
ol J3 A6 2 (B
Sl i3l g Anegi 33 (C
Sl RaltY g3 1 Skt 3 (D
Sl 0k diig) Baa g 33 (E
Choose the correct answer from the options given below:
1) B,D only
2) D,E only
3) C,B only
4) AConly
Options :
878270158625. 1
878270158626. 2
878270158627. 3
878270158628. 4

Question Number : 97 Question Id : 87827040383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



93 Elx
ol (S B 2 (A
ol J3 A6 2 (B
Sl i3l g Anegi 33 (C
Sl RaltY g3 1 Skt 3 (D
Sl 0k diig) Baa g 33 (E
Choose the correct answer from the options given below:
1) B,D only
2) D,E only
3) C,B only
4) AConly
Options :
878270158625. 1
878270158626. 2
878270158627. 3
878270158628. 4

Question Number : 98 Question Id : 87827040384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g 9 g

W3 Sl Jlad e a3 39 (A

il o 3B Oy (B

Gl 183 w1 L& okims 85 (C

W ol LSl sl sae 2alja) 52 (D

Sl 0 S 3 o 98 ol Aabijey se (E

Choose the correct answer from the options given below:
1) B,C only
2) CAonly
3) C,D only

4) B,D only

Options :

878270158629. 1
878270158630. 2
878270158631. 3

878270158632. 4

Question Number : 98 Question Id : 87827040384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



g 9 g

W3 Sl Jlad e a3 39 (A

il o 3B Oy (B

Gl 183 w1 L& okims 85 (C

W ol LSl sl sae 2alja) 52 (D

Sl 0 S 3 o 98 ol Aabijey se (E

Choose the correct answer from the options given below:
1) B,C only
2) CAonly
3) C,D only

4) B,D only

Options :

878270158629. 1
878270158630. 2
878270158631. 3

878270158632. 4

Question Number : 99 Question Id : 87827040385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fl 195 9l
il ol 5l ek 5333 b (A
g (8 o gein i T Sgine (ol (B
b Wi yand 53 (C
sl e 8lh see (D
S92 4y p o T SLS L (E
Choose the correct answer from the options given below:
1) A,B only
2) B,E only
3) B,D only
4) CE only
Options:
878270158633. 1
878270158634. 2
878270158635. 3

878270158636. 4

Question Number : 99 Question Id : 87827040385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fl 195 9l
il ol 5l ek 5333 b (A
g (8 o gein i T Sgine (ol (B
b Wi yand 53 (C
sl e 8lh see (D
S92 4y p o T SLS L (E
Choose the correct answer from the options given below:
1) A,B only
2) B,E only
3) B,D only
4) CE only
Options:
878270158633. 1
878270158634. 2
878270158635. 3

878270158636. 4

Question Number : 100 Question Id : 87827040386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(5S8R P 4l
Sl (58 36 gs S 0 Dladlg (51403 (A
Sl (S 388Y Ol e SRes Sl o (B
il 03903 Ol 13 Jake o 4 (C
Sl ol AL 9 ya0 (o K [l (D
el g il ol LT ] Sk g (E
Choose the correct answer from the options given below:
1) AE only
2) B,D only
3) D,E only
4) AConly
Options:
878270158637. 1
878270158638. 2
878270158639. 3

878270158640. 4

Question Number : 100 Question Id : 87827040386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(5S8R P 4l
Sl (58 36 gs S 0 Dladlg (51403 (A
Sl (S 388Y Ol e SRes Sl o (B
il 03903 Ol 13 Jake o 4 (C
Sl ol AL 9 ya0 (o K [l (D
el g il ol LT ] Sk g (E
Choose the correct answer from the options given below:
1) AE only
2) B,D only
3) D,E only
4) AConly
Options:
878270158637. 1
878270158638. 2
878270158639. 3

878270158640. 4

Question Number : 101 Question Id : 87827040387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SUTTN S
Sl (5 e LT pl b s (A
ool diladle (Saila (B
ol 0k iy S Ogiome 8 M (Sa g 33 (C
Sl 00k diigh Al g e § 9 e Sy 039 (D
Sl 50D LDgi (581 36 Daacmo Sl 33 (E
Choose the correct answer from the options given below:
1) A,B only
2) B,Conly
3) B,D only
4) A,E only
Options :
878270158641. 1
878270158642. 2
878270158643. 3

878270158644. 4

Question Number : 101 Question Id : 87827040387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SUTTN S
Sl (5 e LT pl b s (A
ool diladle (Saila (B
ol 0k iy S Ogiome 8 M (Sa g 33 (C
Sl 00k diigh Al g e § 9 e Sy 039 (D
Sl 50D LDgi (581 36 Daacmo Sl 33 (E
Choose the correct answer from the options given below:
1) A,B only
2) B,Conly
3) B,D only
4) A,E only
Options :
878270158641. 1
878270158642. 2
878270158643. 3

878270158644. 4

Question Number : 102 Question Id : 87827040388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o e

| 40l 38 3 el (A

| 3lo 3 ! (B

! A0l Lo ! (C

Sl (St Loy M ok i il (D

Sl SWT gl il & by e (E

Choose the correct answer from the options given below:
1) B,D only
2) C,D only
3) A,D only

4) AE only

Options :

878270158645. 1
878270158646. 2
878270158647. 3

878270158648. 4

Question Number : 102 Question Id : 87827040388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o e

| 40l 38 3 el (A

| 3lo 3 ! (B

! A0l Lo ! (C

Sl (St Loy M ok i il (D

Sl SWT gl il & by e (E

Choose the correct answer from the options given below:
1) B,D only
2) C,D only
3) A,D only

4) AE only

Options :

878270158645. 1
878270158646. 2
878270158647. 3

878270158648. 4

Question Number : 103 Question Id : 87827040389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:g,qndl -
o (52908 o el S bk g (A
Sl 0y 49 (S B il (38 53 (B
! S5 423 o ke 8390 38 (C
38 o Paudno Badl L) 33 ST (I3l (D
ol (5393 sllae DT ! Sk i (E
Choose the correct answer from the options given below:
1) B,E only
2) C,E only
3) A,D only
4) B,D only
Options :
878270158649. 1
878270158650. 2
878270158651. 3
878270158652. 4

Question Number : 103 Question Id : 87827040389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:g,qndl -
o (52908 o el S bk g (A
Sl 0y 49 (S B il (38 53 (B
! S5 423 o ke 8390 38 (C
38 o Paudno Badl L) 33 ST (I3l (D
ol (5393 sllae DT ! Sk i (E
Choose the correct answer from the options given below:
1) B,E only
2) C,E only
3) A,D only
4) B,D only
Options :
878270158649. 1
878270158650. 2
878270158651. 3
878270158652. 4

Question Number : 104 Question Id : 87827040390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o5 113
3 sl akii (5 gl (A

34 s olash (B

S dazry 51 yupli 1y 3l st (C

AW RPEY olal 5T (D

Sl ek (5530 (E
Choose the correct answer from the options given below:
1) C,E only
2) B,C only
3) A,D only
4) B,E only

Options :

878270158653. 1
878270158654. 2
878270158655. 3

878270158656. 4

Question Number : 104 Question Id : 87827040390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



o5 113
3 sl akii (5 gl (A

34 s olash (B

S dazry 51 yupli 1y 3l st (C

AW RPEY olal 5T (D

Sl ek (5530 (E
Choose the correct answer from the options given below:
1) C,E only
2) B,C only
3) A,D only
4) B,E only

Options :

878270158653. 1
878270158654. 2
878270158655. 3

878270158656. 4

Question Number : 105 Question Id : 87827040391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



15y gl 13 00
Sg Ol S 4bia) sl (A
ool 2395 b Wasn ) 33 U5 (B
Sy bl 4 e (Slg okl ol Ol g8 (C
Sl £lg) o 4ol i (D
39 ol e g 239 (€
Choose the correct answer from the options given below:
1) C,D only
2) A,E only
3) A,D only
4) B,E only
Options :
878270158657. 1
878270158658. 2
878270158659. 3

878270158660. 4

Question Number : 105 Question Id : 87827040391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



15y gl 13 00
Sg Ol S 4bia) sl (A
ool 2395 b Wasn ) 33 U5 (B
Sy bl 4 e (Slg okl ol Ol g8 (C
Sl £lg) o 4ol i (D
39 ol e g 239 (€
Choose the correct answer from the options given below:
1) C,D only
2) A,E only
3) A,D only
4) B,E only
Options :
878270158657. 1
878270158658. 2
878270158659. 3

878270158660. 4

Question Number : 106 Question Id : 87827040392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) Aand B only
2) Band C only
3) Cand D only

4) D and E only

Options :

878270158661. 1
878270158662. 2
878270158663. 3
878270158664. 4

Question Number : 106 Question Id : 87827040392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
i 1 4ol gl 3w 9 WHICS Jadl yaie el (A
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Choose the correct answer from the options given below:
1) Aand B only
2) Band C only
3) Cand D only

4) D and E only



Options :

878270158661. 1
878270158662. 2
878270158663. 3

878270158664. 4

Question Number : 107 Question Id : 87827040393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A and B only
2) Band C only
3) Cand D only
4) Eand A only
Options :
878270158665. 1
878270158666. 2
878270158667. 3

878270158668. 4

Question Number : 107 Question Id : 87827040393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A and B only
2) Band C only
3) Cand D only
4) Eand A only
Options :
878270158665. 1
878270158666. 2
878270158667. 3

878270158668. 4

Question Number : 108 Question Id : 87827040394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) CE only
2) B,D only
3) C,Donly
4) A,C only
Options :
8782701586609. 1
878270158670. 2

878270158671. 3

878270158672. 4

Question Number : 108 Question Id : 87827040394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) CE only
2) B,D only
3) C,Donly
4) A,C only
Options :
8782701586609. 1
878270158670. 2

878270158671. 3

878270158672. 4

Question Number : 109 Question Id : 87827040395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) B,C only
2) AE only
3) A,D only
4) C,E only
Options:
878270158673. 1
878270158674. 2
878270158675. 3
878270158676. 4

Question Number : 109 Question Id : 87827040395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ok jas Sl
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Choose the correct answer from the options given below:
1) B,C only
2) AE only
3) A,D only
4) C,E only
Options:
878270158673. 1
878270158674. 2
878270158675. 3
878270158676. 4

Question Number : 110 Question Id : 87827040396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) B,Conly
2) C,E only
3) B,D only
4) A,D only
Options :
878270158677. 1
878270158678. 2
878270158679. 3

878270158680. 4

Question Number : 110 Question Id : 87827040396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) B,Conly
2) C,E only
3) B,D only
4) A,D only
Options :
878270158677. 1
878270158678. 2
878270158679. 3

878270158680. 4

Question Number : 111 Question Id : 87827040397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) AE only
2) B,Conly
3) D,E only
4) C,D only
Options :
878270158681. 1
878270158682. 2
878270158683. 3

878270158684. 4

Question Number : 111 Question Id : 87827040397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) AE only
2) B,Conly
3) D,E only
4) C,D only
Options :
878270158681. 1
878270158682. 2
878270158683. 3

878270158684. 4

Question Number : 112 Question Id : 87827040398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) B and A only
2) A and Conly

3) Cand D only

4) D and E only

Options:

878270158685. 1
878270158686. 2
878270158687. 3
878270158688. 4

Question Number : 112 Question Id : 87827040398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) B and A only
2) A and Conly

3) Cand D only

4) D and E only

Options:

878270158685. 1
878270158686. 2
878270158687. 3
878270158688. 4

Question Number : 113 Question Id : 87827040399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) B,C only
2) C,E only
3) A,D only
4) B,E anly
Options :
878270158689. 1
878270158690. 2
878270158691. 3

878270158692. 4

Question Number : 113 Question Id : 87827040399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) B,C only
2) C,E only
3) A,D only
4) B,E anly
Options :
878270158689. 1
878270158690. 2
878270158691. 3

878270158692. 4

Question Number : 114 Question Id : 87827040400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



il Jo3 0 30 33 B Rl (A
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Choose the correct answer from the options given below:
1) Aand B only
2) Cand D only
3) Dand A only
4) D and E only
Options:
878270158693. 1
878270158694. 2
878270158695. 3
878270158696. 4

Question Number : 114 Question Id : 87827040400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



il Jo3 0 30 33 B Rl (A
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Choose the correct answer from the options given below:
1) Aand B only
2) Cand D only
3) Dand A only
4) D and E only
Options:
878270158693. 1
878270158694. 2
878270158695. 3

878270158696. 4

Question Number : 115 Question Id : 87827040401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:

1) A,D only

2) A,Conly

3) C,D only

4) B,E only



Options :

878270158697. 1
878270158698. 2
878270158699. 3
878270158700. 4

Question Number : 115 Question Id : 87827040401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the carrect answer from the options given below:
1) A,D only
2) A,Conly
3) C,D only
4) B,E only
Options :
878270158697. 1
878270158698. 2
878270158699. 3

878270158700. 4

Question Number : 116 Question Id : 87827040402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:

1) A-ll, B-IV, C-I, D-|

2) A-IV, B-l, C-l, D-I
3) A-ll, B-IV, C-1, D-II
4) All, B, C-IV, D-lll

Options :

878270158701. 1
878270158702. 2
878270158703. 3

878270158704. 4

Question Number : 116 Question Id : 87827040402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:

1) A-ll, B-IV, C-I, D-|

2) A-IV, B-l, C-l, D-I
3) A-ll, B-IV, C-1, D-II
4) All, B, C-IV, D-lll

Options :

878270158701. 1
878270158702. 2
878270158703. 3

878270158704. 4

Question Number : 117 Question Id : 87827040403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-IV, B-I, C-II, D-1lI
2) A-IV, B-lI, C-11, DA
3) A-lll, B-IV, C-I, D-lI
4) A-ll, B, C-IV, D-II

Options :

878270158705. 1
878270158706. 2
878270158707.3

878270158708. 4

Question Number : 117 Question Id : 87827040403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-IV, B-I, C-II, D-1lI
2) A-IV, B-lI, C-11, DA
3) A-lll, B-IV, C-I, D-lI
4) A-ll, B, C-IV, D-II

Options :

878270158705. 1
878270158706. 2
878270158707.3

878270158708. 4

Question Number : 118 Question Id : 87827040404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-ll, B-I, C-lll, D-IV
2) A-IV, B-II, C-I, D-1lI
3) A-l, B-lI, C-lll, D-IV

4) A-ll, B-1, C-IV, D-II

Options :

878270158709. 1
878270158710. 2
878270158711. 3

878270158712. 4

Question Number : 118 Question Id : 87827040404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-ll, B-I, C-lll, D-IV
2) A-IV, B-II, C-I, D-1lI
3) A-l, B-lI, C-lll, D-IV

4) A-ll, B-1, C-IV, D-II

Options :

878270158709. 1
878270158710. 2
878270158711. 3

878270158712. 4

Question Number : 119 Question Id : 87827040405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LISTTI
A el s gkt
B b : b (92
C ali olial i e o Ul
D . v ol P e

Choose the correct answer from the options given below:
1) A-lIl, B-1, C-IV, DIl
2) A-ll, B-II, C-1V, D-
3) A-IV, B-II, C-I, D-HlI
4) A, B-IV, C-Iil, D-li

Options :

878270158713. 1
878270158714. 2
878270158715. 3

878270158716. 4

Question Number : 119 Question Id : 87827040405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-lIl, B-1, C-IV, DIl
2) A-ll, B-II, C-1V, D-
3) A-IV, B-II, C-I, D-HlI
4) A, B-IV, C-Iil, D-li

Options :

878270158713. 1
878270158714. 2
878270158715. 3

878270158716. 4

Question Number : 120 Question Id : 87827040406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-IV, B-I, C-II, D-Ill
2) A-lIl, B-Il, C-I, D-IV
3) A-lI, B-lIl, C-IV, D-I
4) A-IV, B-Ill, C-1, D-Il

Options :

878270158717. 1
878270158718. 2
878270158719. 3

878270158720. 4

Question Number : 120 Question Id : 87827040406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il
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Choose the correct answer from the options given below:
1) A-IV, B-I, C-II, D-Ill
2) A-lIl, B-Il, C-I, D-IV
3) A-lI, B-lIl, C-IV, D-I
4) A-IV, B-Ill, C-1, D-Il

Options :

878270158717. 1
878270158718. 2
878270158719. 3

878270158720. 4

Question Number : 121 Question Id : 87827040407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-IV, B-I, C-II, D-lIl
2) A-ll, B-, C-II, D-IV
3) A-lll, B-II, C-I, D-IV
4) A-ll, BlII, C-IV, DA

Options :

878270158721. 1
878270158722.2
878270158723. 3

878270158724. 4

Question Number : 121 Question Id : 87827040407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-IV, B-I, C-II, D-lIl
2) A-ll, B-, C-II, D-IV
3) A-lll, B-II, C-I, D-IV
4) A-ll, BlII, C-IV, DA

Options :

878270158721. 1
878270158722.2
878270158723. 3

878270158724. 4

Question Number : 122 Question Id : 87827040408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A, B-Il, C-lll, D-IV
2) A-Il, B-IlI, C-IV, Dl
3) A-lll, B-I, C-Il, D-IV
4) A-IV, B-lll, C-I, D-II

Options :

878270158725. 1
878270158726. 2
878270158727.3

878270158728. 4

Question Number : 122 Question Id : 87827040408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LISTII
A g alli> hilol 5589
B PR " Obgis 5389
G ol s 32t i b plb 6583
D silp |y -

Choose the correct answer from the options given below:
1) A, B-Il, C-lll, D-IV
2) A-Il, B-IlI, C-IV, Dl
3) A-lll, B-I, C-Il, D-IV
4) A-IV, B-lll, C-I, D-II

Options :

878270158725. 1
878270158726. 2
878270158727.3

878270158728. 4

Question Number : 123 Question Id : 87827040409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Choose the correct answer from the options given below:
1) A-IV, B-I, C-II, D
2) A-lll, B-II, C-I, D-IV
3) A-ll, B-I, C-Iv, D-lII
4) A, B-ll, C-lll, D-IV

Options :

878270158729. 1
878270158730. 2
878270158731.3

878270158732. 4

Question Number : 123 Question Id : 87827040409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LISTII
A o el g S dezs
B sy i e
G oyl i o
D E Baa IV NN U

Choose the correct answer from the options given below:
1) A-IV, B-I, C-II, D
2) A-lll, B-II, C-I, D-IV
3) A-ll, B-I, C-Iv, D-lII
4) A, B-ll, C-lll, D-IV

Options :

878270158729. 1
878270158730. 2
878270158731.3

878270158732. 4

Question Number : 124 Question Id : 87827040410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LIST I
A ol yf el
B il 2 QR £
G bz b il 3908 olSel
D by f Y sz dali

Choose the correct answer from the options given below:

1) A-ll, B-l, C-IV, D-II
2) A-lll, B-IV, C-II, D-|
3) A-IV, B-II, C-1, D-lll

4) A, B-ll, C-lll, D-IV

Options :

878270158733. 1
878270158734. 2
878270158735. 3
878270158736. 4

Question Number : 124 Question Id : 87827040410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LIST I
A ol yf el
B il 2 QR £
G bz b il 3908 olSel
D by f Y sz dali

Choose the correct answer from the options given below:

1) A-ll, B-l, C-IV, D-II
2) A-lll, B-IV, C-II, D-|
3) A-IV, B-II, C-1, D-lll

4) A, B-ll, C-lll, D-IV

Options :

878270158733. 1
878270158734. 2
878270158735. 3
878270158736. 4

Question Number : 125 Question Id : 87827040411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LISTII
A & 2Silg> 4k JL31 T s VoS
B aali slgzals 1 = po
C 4l 3l m OB Aeie i g Mo
D bR 65 e acnd

Choose the correct answer from the options given below:
1) A-ll, B-lll, C-1V, D-|
2) A-ll, B-l, C-1I, D-IV
3) A-IV, B-ll, C-lII, D-|
4) A, B-IV, C-II, D-llI

Options :

878270158737. 1
878270158738. 2
878270158739. 3
878270158740. 4

Question Number : 125 Question Id : 87827040411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match list | with List Il

LISTI LISTII
A & 2Silg> 4k JL31 T s VoS
B aali slgzals 1 = po
C 4l 3l m OB Aeie i g Mo
D bR 65 e acnd

Choose the correct answer from the options given below:
1) A-ll, B-lll, C-1V, D-|
2) A-ll, B-l, C-1I, D-IV
3) A-IV, B-ll, C-lII, D-|
4) A, B-IV, C-II, D-llI

Options :

878270158737. 1
878270158738. 2
878270158739. 3
878270158740. 4

Question Number : 126 Question Id : 87827040412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

5gudl Ly (A

4di 4 (B

sl iz (C

Jbl calei (D

Jlesd1s £ (E

Choose the correct answer from the options given below:
1) B,C,A,D,E

2) CAEB,D

3) A,B,C,D,E
4) E,ACD,A

Options :

878270158741. 1
878270158742. 2
878270158743. 3

878270158744. 4

Question Number : 126 Question Id : 87827040412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

5gudl Ly (A

4di 4 (B

sl iz (C

Jbl calei (D

Jlesd1s £ (E

Choose the correct answer from the options given below:
1) B,C,A,D,E

2) CAEB,D

3) A,B,C,D,E
4) E,ACD,A

Options :

878270158741. 1
878270158742. 2
878270158743. 3

878270158744. 4

Question Number : 127 Question Id : 87827040413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
N @1 (A
S ol 331 (B
s 1 (C
(S S1gil (D
ols ¢ (E
Choose the correct answer from the options given below:
1) A,C,D,E,B
2) B,A,C,D,E

3) A,B,C,D,E
4) D,E,A,B,C

Options :

878270158745. 1
878270158746. 2
878270158747.3

878270158748. 4

Question Number : 127 Question Id : 87827040413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
N @1 (A
S ol 331 (B
s 1 (C
(S S1gil (D
ols ¢ (E
Choose the correct answer from the options given below:
1) A,C,D,E,B
2) B,A,C,D,E

3) A,B,C,D,E
4) D,E,A,B,C

Options :

878270158745. 1
878270158746. 2
878270158747.3

878270158748. 4

Question Number : 128 Question Id : 87827040414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
gt A (A
gy ol (B

Jeadllgil (C
<18 (D

A9 S e €

Choose the correct answer from the options given below:
1)A,B,C,D,E
2)B,C,D,EA
3)C,D,EAB
4) D,E,A,B,C

Options :

878270158749. 1
878270158750. 2
878270158751. 3

878270158752. 4

Question Number : 128 Question Id : 87827040414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
gt A (A
gy ol (B

Jeadllgil (C
<18 (D

A9 S e €

Choose the correct answer from the options given below:
1)A,B,C,D,E
2)B,C,D,EA
3)C,D,EAB
4) D,E,A,B,C

Options :

878270158749. 1
878270158750. 2
878270158751. 3

878270158752. 4

Question Number : 129 Question Id : 87827040415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
sLIg¥E 535 (A
“lad(B

S1gdlf Klgh (C

ASYI LS (D

s yler (E

Choose the correct answer from the options given below:
1) B,C,D,AE
2) D,A,C,E,D
3)AB,CD,E

4) A,C,B,D,E

Options :

878270158753. 1
878270158754. 2
878270158755. 3

878270158756. 4

Question Number : 129 Question Id : 87827040415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
sLIg¥E 535 (A
“lad(B

S1gdlf Klgh (C

ASYI LS (D

s yler (E

Choose the correct answer from the options given below:
1) B,C,D,AE
2) D,A,C,E,D
3)AB,CD,E

4) A,C,B,D,E

Options :

878270158753. 1
878270158754. 2
878270158755. 3

878270158756. 4

Question Number : 130 Question Id : 87827040416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
g pol b i (A
S by (B

dlao ylg> (C

Shrw s (D

< @y (E
Choose the correct answer from the options given below:
1)A,C,B,D,E
2) B,AD,E,C
3)D,B,C,EA
4) C,E,D,B,A

Options :

878270158757. 1
878270158758. 2
878270158759. 3
878270158760. 4

Question Number : 130 Question Id : 87827040416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
g pol b i (A
S by (B

dlao ylg> (C

Shrw s (D

< @y (E
Choose the correct answer from the options given below:
1)A,C,B,D,E
2) B,AD,E,C
3)D,B,C,EA
4) C,E,D,B,A

Options :

878270158757. 1
878270158758. 2
878270158759. 3
878270158760. 4

Question Number : 131 Question Id : 87827040417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
3 e s (A
e Ol (B

S21239 4anly (C

ﬁnl.a;:'f mjﬁ{D

e sl o) (E

Choose the correct answer from the options given below:
1) A,B,C,D,E
2)CB,EDA
3)B,C,DAE
4)D,C,AE,B

Options :

878270158761. 1
878270158762. 2
878270158763. 3

878270158764. 4

Question Number : 131 Question Id : 87827040417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
3 e s (A
e Ol (B

S21239 4anly (C

ﬁnl.a;:'f mjﬁ{D

e sl o) (E

Choose the correct answer from the options given below:
1) A,B,C,D,E
2)CB,EDA
3)B,C,DAE
4)D,C,AE,B

Options :

878270158761. 1
878270158762. 2
878270158763. 3

878270158764. 4

Question Number : 132 Question Id : 87827040418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

ke ST ol 56 (A

SV p3(B

Slog zu b (C

oailly Z sladl foses (D

39y (E

Choose the correct answer from the options given below:
1) A,B,D,E,C
2)B,D,CAE
3)C,A,D,E,B
4)D,E,C,B,A

Options :

878270158765. 1
878270158766. 2
878270158767. 3

878270158768. 4

Question Number : 132 Question Id : 87827040418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

ke ST ol 56 (A

SV p3(B

Slog zu b (C

oailly Z sladl foses (D

39y (E

Choose the correct answer from the options given below:
1) A,B,D,E,C
2)B,D,CAE
3)C,A,D,E,B
4)D,E,C,B,A

Options :

878270158765. 1
878270158766. 2
878270158767. 3

878270158768. 4

Question Number : 133 Question Id : 87827040419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
Pl (A

gk Ao (B
Sl Lo (C
Sam bl (D
S Sexles(E
Choose the correct answer from the options given below:
1) C,AB,D,E
2)AB,C,D,E
3)B,D,ECA
4)D,B,AE,C

Options:

878270158769. 1
878270158770. 2
878270158771. 3

878270158772. 4

Question Number : 133 Question Id : 87827040419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically
Pl (A

gk Ao (B
Sl Lo (C
Sam bl (D
S Sexles(E
Choose the correct answer from the options given below:
1) C,AB,D,E
2)AB,C,D,E
3)B,D,ECA
4)D,B,AE,C

Options:

878270158769. 1
878270158770. 2
878270158771. 3

878270158772. 4

Question Number : 134 Question Id : 87827040420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

(Sl ol oy i (A

S dgac (B

(Sooeb olt ke (C

B oll il yilas (D

o pulogh ol (E

Choose the correct answer from the options given below:

1) A,B,C,D,E
2) B,C,D,E,A
3)C,D,E,AB
4) AB,C,ED

Options :

878270158773. 1
878270158774. 2
878270158775. 3
878270158776. 4

Question Number : 134 Question Id : 87827040420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

(Sl ol oy i (A

S dgac (B

(Sooeb olt ke (C

B oll il yilas (D

o pulogh ol (E

Choose the correct answer from the options given below:

1) A,B,C,D,E
2) B,C,D,E,A
3)C,D,E,AB
4) AB,C,ED

Options :

878270158773. 1
878270158774. 2
878270158775. 3
878270158776. 4

Question Number : 135 Question Id : 87827040421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

wl w51 (A

AU 3959 g6 (B

SpberF(C

Bl & e 2 56 (D

el dodl (E

Choose the correct answer from the options given below:
1) A,C,E,D,B
2)C,AB,ED
3)B,D,CAE
4)D,E,AB,C

Options :

878270158777. 1
878270158778. 2
878270158779. 3
878270158780. 4

Question Number : 135 Question Id : 87827040421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically

wl w51 (A

AU 3959 g6 (B

SpberF(C

Bl & e 2 56 (D

el dodl (E

Choose the correct answer from the options given below:
1) A,C,E,D,B
2)C,AB,ED
3)B,D,CAE
4)D,E,AB,C

Options :

878270158777. 1
878270158778. 2
878270158779. 3
878270158780. 4

Question Number : 136 Question Id : 87827040422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion Al Caal w6 S8 e Oloj Lo

Reason Ricw! (& jloxs dosee 4ol audac Sa o Sloy 310 7 Loy
In the light of above statements, choose the most appropriate answer from the options given

below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Alis correct but R is not correct

4. Ais not correct but R is correct

Options :

878270158781. 1
878270158782. 2
878270158783. 3

878270158784. 4

Question Number : 136 Question Id : 87827040422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion Al Caal w6 S8 e Oloj Lo

Reason Ricw! (& jloxs dosee 4ol audac Sa o Sloy 310 7 Loy
In the light of above statements, choose the most appropriate answer from the options given

below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. Alis correct but R is not correct

4. Ais not correct but R is correct

Options :

878270158781. 1
878270158782. 2
878270158783. 3

878270158784. 4

Question Number : 137 Question Id : 87827040423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

& n

Assertion Al Cel b Wi 8" pde ol g 30 g

Reason RiCwl  owilh g 0 4l polod " g gl g 35 pa”
In the light of above statements, choose the most appropriate answer from the options given

below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but R is true

Options :

878270158785. 1
878270158786. 2
878270158787. 3

878270158788. 4

Question Number : 137 Question Id : 87827040423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

& n

Assertion Al Cel b Wi 8" pde ol g 30 g

Reason RiCwl  owilh g 0 4l polod " g gl g 35 pa”
In the light of above statements, choose the most appropriate answer from the options given

below

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but R is true

Options :

878270158785. 1
878270158786. 2
878270158787. 3

878270158788. 4

Question Number : 138 Question Id : 87827040424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement |: 3 p ol pl & i 3115 | s 4839 J3le 19 migil Gloj 38

Statement I1: ol ouild 5 » (Sale 4 o i 31 30 ol (G191 imy

In the light of above statements, choose the correct answer from the options given below
1. Both statement | and Statement Il are true

2. Both statement | and Statement Il are false

3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true

Options :

878270158789. 1
878270158790. 2
878270158791. 3
878270158792. 4

Question Number : 138 Question Id : 87827040424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement |: 3 p ol pl 4 s 3115 | Gy 839 J3le 319 migil Gloj 38

Statement 11: Al oila &y (Solg 4 S Kt 31 30 cpalal 61y | i

In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement Il are true
2. Both statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4. Statement | is false but statement Il is true



Options :

878270158789. 1
878270158790. 2
878270158791. 3
878270158792. 4

Question Number : 139 Question Id : 87827040425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement |: S Sond ol (Sane ool 0l " 5l VT O 500"
Statement [1:al sowas” ol & ol " 5l pa¥1 0350”31 b 8 g " 1 g1 allag”
In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement Il are true
2. Both statement | and Statement |l are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true

Options :

878270158793. 1
878270158794. 2
878270158795. 3
878270158796. 4

Question Number : 139 Question Id : 87827040425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: S Sond ol (Sane ool 0l " 5l VT O 500"
Statement [1:al sowas” ol & ol " 5l pa¥1 0350”31 b 8 g " 1 g1 allag”
In the light of above statements, choose the correct answer from the options given below

1. Both statement | and Statement Il are true
2. Both statement | and Statement |l are false
3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true

Options :

878270158793. 1
878270158794. 2
878270158795. 3

878270158796. 4

Question Number : 140 Question Id : 87827040426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement |1 Sl w3l 38 20 (51 g 0chad 18 g | B>

Statement |l:cul 45w} 0 G893 5583 38 Jla o B>

In the light of above statements, choose the correct answer from the options given below
1. Both statement | and Statement Il are true

2. Both statement | and Statement Il are false

3. Statement | is true but Statement Il is false

4, Statement | is false but statement Il is true

Options :
878270158797. 1

878270158798. 2



878270158799. 3
878270158800. 4

Question Number : 140 Question Id : 87827040426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements

Statement |1 Cal w3l B9 50 (51 g s 19 05 B>

Statement |l:cwl 4hw § 0 S99 3 5383 30 Jla o B>

In the light of above statements, choose the correct answer from the options given below
1. Both statement | and Statement Il are true

2. Both statement | and Statement Il are false

3. Statement | is true but Statement |l is false

4, Statement | is false but statement Il is true

Options :

878270158797. 1
878270158798. 2
878270158799. 3

878270158800. 4

Sub-Section Number : 2
Sub-Section Id : 8782701693
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827040427 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827040428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
foadls 3l diuds pIAT 4 AWE diz p 7 WS Olbge
g b 4 (1)
Sl 4l 4 (2)
B Sl dib 4 (3)
ol 4k @ (4)
Options :
878270158801. 1
878270158802. 2
878270158803. 3

878270158804. 4

Question Number : 142 Question Id : 87827040429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



135 18351 bygauls” pli & (5 553 b Sl Kizr 33 _AKE Kz p 5 W13 Olage

e o2l [ 52 (1)

I 03 s g 33 (2)

Sl 035185y 53 (3)

Sl 23l o 52 (4)

Options :

878270158805. 1
878270158806. 2
878270158807. 3

878270158808. 4

Question Number : 143 Question Id : 87827040430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
fud LS pile 42 (Slp g I Bl
A OldsSil pile (S38100 9 pale buasel (ST Sl S (e 32 P 1889 @il paw 53 (1)
A5 eSSl R 3le Dl i (S Sl Sutmal e 33 p 1889 598 p32 3 (2)
A QRS pile i heaow (53 (S 03595 [y 33 £ 1888yl piler 52 (3)

A Sl pile Lo pale a1 Sl oo e 33 p 1890 o371 3 53 (4)

Options :

878270158809. 1
878270158810. 2
878270158811. 3
878270158812. 4

Question Number : 144 Question Id : 87827040431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ad ggar sl JT pile 5 a5
A1890 blal (1)
p1891 plal (2)
p 1892 sl (3)
p1893 pial (4)
Options :
878270158813. 1
878270158814. 2
878270158815. 3

878270158816. 4

Question Number : 145 Question Id : 87827040432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Tl drfan S 5 SN b (5 b ook 01y 53 AWl
b Glheg duda Al L (1)
e sl AT paeb(2)
Fod Sl T p350L(3)
F okl et @)
Options :
878270158817. 1
878270158818. 2
878270158819. 3

878270158820. 4

Question Id : 87827040427 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)



Question Label : Comprehension

Soa il Ll b ol o S gl g3 ) K" 1869 J 1o " att i £ s ol "
Juo g2 M s S elppilag o Gpman o "y 28" gl g U SI 13 0 g il s L 4 J ol pls
ale i HL:.#JJ!J:JQ'L.-‘ 19 e 1888 ral...u’i » Jmfwf_,: 3y il s S g gl Spn 45'\_;.:5}:,-.1 1885
it € o o 439 o0 Ml 3 43 kg 0 501 3 8 G i i 1891 455510 5 Sl g s 1l
e $Ui 3T 316 1893 g1 0 s ot s ol il 3 U o g AuSls LISy o i 0.0 5725
OT e Sl 683 s 6315 5l e g 5 s IS g 3 4l 0 rge sl 3T g i 39 680 S 5 e i
Lol 52 A ol 51, Dldtn a5 s ST bl 2 pon w2l 000 g e

25 s g g Jari Lo e i Ul ko ool UKR L g Do e e

Sub questions

Question Number : 141 Question Id : 87827040428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
feadls e da IS 4 ANE X p 5 Wl Slage
daw gin dado @ (1)
Sl 4l 4 (2)
B al dade 4 (3)
ol 4k @ (4)
Options :
878270158801. 1
878270158802. 2
878270158803. 3

878270158804. 4

Question Number : 142 Question Id : 87827040429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



135 18351 bygauls” pli & (5 553 b Sl Kizr 33 _AKE Kz p 5 W13 Olage

e o2l [ 52 (1)

I 03 s g 33 (2)

Sl 035185y 53 (3)

Sl 23l o 52 (4)

Options :

878270158805. 1
878270158806. 2
878270158807. 3

878270158808. 4

Question Number : 143 Question Id : 87827040430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
fud LS pile 42 (Slp g I Bl
A OldsSil pile (S38100 9 pale buasel (ST Sl S (e 32 P 1889 @il paw 53 (1)
A5 eSSl R 3le Dl i (S Sl Sutmal e 33 p 1889 598 p32 3 (2)
A QRS pile i heaow (53 (S 03595 [y 33 £ 1888yl piler 52 (3)

A Sl pile Lo pale a1 Sl oo e 33 p 1890 o371 3 53 (4)

Options :

878270158809. 1
878270158810. 2
878270158811. 3
878270158812. 4

Question Number : 144 Question Id : 87827040431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl gpe sl 4T pjle 7 a0l
p1890 _plal (1)
p1891 plal (2)
p 1892 plal (3)
p1893 pial (4)
Options :
878270158813. 1
878270158814. 2
878270158815. 3

878270158816. 4

Question Number : 145 Question Id : 87827040432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Tl drfan S 5 SN b (5 b ook 01y 53 AWl
b Glheg duda Al L (1)
e sl AT paeb(2)
Fod Sl T p30 L (3)
S oWl paet(4)
Options:
878270158817. 1
878270158818. 2
878270158819. 3

878270158820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701694
Question Shuffling Allowed : Yes

Is Section Default?: null



Question Id : 87827040433 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)
Question Label : Comprehension

Cnilol 31 9 Ol ke i Slabe 314 kel 4 Fg e Jloed Laslg cp ol ez dew N 03l Pl e Ao e
Sagal Of g 33 13 Silodio il Wi Olgiea! 53 35 1359 Jlw 33 (59 Sl ualr g it Zuing 2l 4 Olalg (53151 9
Olaad” 03 1) dawgio 5380 90 gl U b g Olwd 0 30 § Sy g @ 30 1326 Jl Bial 52 9
Obb b ool oz il i sb pile pae 3250 31 30 1328 Sl 33 9.3 9 bk @ (gl duyia) Ol b 0 St 13Y
Olod 33 9 oAb Juazall £ 4l § 3930 olLils I ek %l 5 33 3 21333 gl 5 8 wile il3e! 53 21329 Jl
G01333 Ja¥l auy B30 53w ole de 43 & § ol 3 E19351 g JBT T 0B85 295 8l et b JLo
Sl 8l amole &5 8.2 F 13 Ol ol il g S30T U8 50 9 Sy ol 3 409 Jol Aol oy oK p 5o 5 47
33 ot ollile 57 g 2l 50 Ale iy g D Okl 3319 SN Goler ST 518385 50 908 I > oy 3l (SR 3gele

B iy pel; dalije 9

Sub questions

Question Number : 146 Question Id : 87827040434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

T e 23]l e dameas s s

lehar Bt 5 ol s s (1)

e 4 1 5 o s o (2)

S2us e it Sl (3)

SAA P e S H A
Options :
878270158821. 1
878270158822. 2
878270158823. 3

878270158824. 4



Question Number : 147 Question Id : 87827040435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Q;J,;J_gﬂda;:ﬂ}m‘g#.w.l.rﬂ
361326 J Ll 52 (1)
B 1325 Ju Lyl o (2)

3:1324 Ju LIl 2 (3)

L

31323 Ju Lyl s (4)
Options:
878270158825. 1
878270158826. 2
878270158827. 3

878270158828. 4

Question Number : 148 Question Id : 87827040436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
T ezl & by pIas 33 dudl § 39 33 oKD 3l 031 lea A& oo e
Slual &by 53 (1)
Sigleas pale &5 52 (2)
Ged> iy 33 (3)
Sy A o (4)
Options :
878270158829. 1
878270158830. 2
878270158831. 3

878270158832. 4



Question Number : 149 Question Id : 87827040437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
1390 saut PIAT Jal 508585 4 Paage 03 Jlozr e dodme e J31 st
39 4l § ol (1)
g ok Jal(2)
ag OladT &t (3)
g ol (4)
Options :
878270158833. 1
878270158834. 2
878270158835. 3

878270158836. 4

Question Number : 150 Question Id : 87827040438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
oy b §01333 oVl awy sS1el 30 03Pk e oo d

by ol w4 (1)
oy o @ (2)
Sy g g 4 (3)
oy Ol ye @ (4)

Options :

878270158837. 1

878270158838. 2

878270158839. 3

878270158840. 4



Question Id : 87827040433 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)

Question Label : Comprehension

ool 1 g Ol Jale o Stola 314 Jlado! 4 By e leds Lacfg cp ! Jloor dew i) 001 Plor e doceo s
Sagal O g 52 15 Slodio il Wi Olgia! 53 38 1359 Jlo 32 (59 Sl b g gt Zuingl pU 4 Ollgs (52151 9
Ol 335 1 dlawgio 595 § 3 gl Pl e o Olwd &5 33 8 Sy D9 4 0 1326 Jlo bial 53 3
Obb B odl oz ul sk pile pas 305k 31301328 Jlu 53 955 obb 4 (1eeT duyute) Sl oo 53 s y15Y
o 33 § o el & 51 4l B (3930 o531 3 Fai- %y 33 01333 blgl 58 g wile olied 30 01329
G0 1333 JaVl gwy ol 2 dmole de 90 dar § Llo 23 Z193) wge JIT 51 0039 395 ol et b Sl
Sl o ole 0 3. 513 O pT Olales S305T S 50 9 Sy pd p g Jof Aall o K p S 5 45
33 oty oliile 57 3 2l 50 Ble Nir g D Okl 3,1 I Soler 3T 538y 50908 I > oy 3 (gele

B paly el Walizey g

Sub questions

Question Number : 146 Question Id : 87827040434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

‘?;—b—;ﬁ‘;— -‘IJI:HPLA::- Jj-F- -Lw-ll:.u- J'j':_ I'1-vll

ke Lol 5 sl s A (1)

s 5 s £ o o haoma (D)

S35 ol Slg (3)

SrF R ot S A
Options :
878270158821. 1
878270158822. 2
878270158823. 3

878270158824. 4



Question Number : 147 Question Id : 87827040435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty g s S ool Jlas e dasan e
Be1326 J Ligl sa (1)
361325 Ju Lyl (2D
31324 Ju. Lyl 2 (3)

31323 Ju Liyl 2 @
Options :
878270158825. 1
878270158826. 2
878270158827.3

878270158828. 4

Question Number : 148 Question Id : 87827040436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T ol &5l 4y pIAS 33 dudl B (38 33 SIESI1S 3l 081 Plos e oo e
Sl &by 53 (1)
Siel e pals 55 50 (2)
Ged> 4dy 32 (3)
S s 58 (4)
Options:
878270158829. 1
878270158830. 2

878270158831. 3



878270158832. 4

Question Number : 149 Question Id : 87827040437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
190 s P Il 10595 4 Pgwge 03 Ploar s dodms e 8] gt
Sg 4l § Jal (1)
g ok Jal (2)
Sy oledT fal (3)
g ! (4)
Options :
878270158833. 1
878270158834. 2
878270158835. 3
878270158836. 4

Question Number : 150 Question Id : 87827040438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Sl §01333 a1 awy s1al 53 03l Pl e dosre e

) ol p (1)
oy ol 4 (2)
oy g e 4 (3)
Ol 4 (4)

Options :

878270158837. 1

878270158838. 2

878270158839. 3



878270158840. 4



